(TXO)

4.1 -

C-P+Ke™-TC,£ESe* £C- P+Ke " +TC, (12)

C-P+Ke"-S*-TC,30 (13)

C-P+Ke"- Se*+TC, £0 (14)



4.2

31

(14)

(16)

(13) —

C’- P*+Ke"-S%%-TC 30

C*- P’ +Ke"-SPe*+TC, £0

(15)

(15)
(16)



10 -

C-P+Ke"-TC,EFe"£C-P+Ke"+TC, (17)

TC, =t +t, +t;  t;

C-P+Ke™"-Fe"-TC,30 (18)
C-P+Ke"-Fe"+TC,£0 (19
3.1

C D - -
CP-P*+Ke"-F2%"-TC,30 (20)

C*- P +Ke"-FP"+TC,£0 (21)



4.3

C (K)-C (K)]- [P (<)- P K)[+(K,- K,Je™-TG2 0

C (K)- C (K)|- [P (K)- P (K,)|+(K,- K, )¢ T+TC,£0

TC, =t +t, +t, +t, . t, t, t

Py P2

31 E F

[C°(Ky)- C2(K,)|- [PP(Ky) - PP(K,)|+(K, - K, )™ - TC,3 0

[c*(K)- C°(K,)]- [PP () - PA(K,)]+ (K, - K,Je T +TC, £0

(22)

(23)

(24)
(25)






